MATHS

BOOKS - CBSE COMPLEMENTARY
MATERIAL MATHS (HINGLISH)

CO-ORDINATE GEOMETRY

Exercise Part A

1. The abscissa of a point is the distance of the

point from


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Schm7HAVx6t8

A. x-axis

B. y-axis

C.origin

D. None of these

Answer: B

° Watch Video Solution

2. The y-coordinate of a point is the distance

of that point from


https://dl.doubtnut.com/l/_Schm7HAVx6t8
https://dl.doubtnut.com/l/_clz4fEvaEmJq

A. x-axis

B. y-axis

C.origin

D. None of these

Answer: A

o Watch Video Solution

3. If both the coordinates of a point are

negative then that point will lie in


https://dl.doubtnut.com/l/_clz4fEvaEmJq
https://dl.doubtnut.com/l/_6vDRyekCnQO3

A. First quadrant

B. Second quadrant

C. Third quadrant

D. Fourth quadrant

Answer: C

o Watch Video Solution

4.If abscissa of a point is zero then that point

will lie


https://dl.doubtnut.com/l/_6vDRyekCnQO3
https://dl.doubtnut.com/l/_FiFn0FUCp3Pp

A. on x-axis

B. on y-axis

C. at origin

D. in 1st quadrant

Answer: B

o Watch Video Solution

5. If x>0 and y<O0, then the point (z, — y) lies

in


https://dl.doubtnut.com/l/_FiFn0FUCp3Pp
https://dl.doubtnut.com/l/_dw15oVMtv1WA

A. | quadrant

B. Il quadrant

C. lll quadrant

D. IV quadrant

Answer: A

o Watch Video Solution

6. Point (a, o) lies

A. on x-axis


https://dl.doubtnut.com/l/_dw15oVMtv1WA
https://dl.doubtnut.com/l/_fd4c8ZSJjRsn

B. on y-axis

C.in third quadrant

D. in fourth quadrant

Answer: A

o Watch Video Solution

7. of abscissa and ordinate of a point in the

fourth quadrant are respectively.

A+, +


https://dl.doubtnut.com/l/_fd4c8ZSJjRsn
https://dl.doubtnut.com/l/_YX8Bv3gR6hdl

Answer: D

o Watch Video Solution

8. Ordinate of a point is positive in

A.l and IV quadrants

B. 1 quadrant only


https://dl.doubtnut.com/l/_YX8Bv3gR6hdl
https://dl.doubtnut.com/l/_sxAg0eKVQlkd

C.land Il quadrants

D. 1 and lll quadrants

Answer: C

o Watch Video Solution

9. The point which lies on y-axis at a distance

of 10 units in the negative direction of y-axis is

A. (10,0)

B. (0,10)


https://dl.doubtnut.com/l/_sxAg0eKVQlkd
https://dl.doubtnut.com/l/_4K16912Vpc4n

C. (-10,0)

D. (0,-10)

Answer: D

o Watch Video Solution

10. The point whose abscissa and ordinate

have different signs will lie in

A.l and Il quadrants

B. I and Il quadrants


https://dl.doubtnut.com/l/_4K16912Vpc4n
https://dl.doubtnut.com/l/_xfaATbJ6jPZJ

C. Il and Ill quadrants

D. Il and IV quadrant

Answer: D

o Watch Video Solution

1. Which of the points P(0,3), Q(1,0),
R(0,-1),5(-5,0) and T(1,2) do not lie on the X-axis

?

A.Pand R only


https://dl.doubtnut.com/l/_xfaATbJ6jPZJ
https://dl.doubtnut.com/l/_oPdMbVrQH1Kg

B.Q and S only

C.P,Rand T

D.Q,Sand T

Answer: C

o Watch Video Solution

12. If the coordinates of the two points are
P(-2,3) and 0Q(-3,5) , then (Abscissa of P)-

(Abscissa of Q) is


https://dl.doubtnut.com/l/_oPdMbVrQH1Kg
https://dl.doubtnut.com/l/_cczP5BsHM2q6

Answer: B

° Watch Video Solution

13. Point

(1,1),(1, —1),(—-1,1),(—-1, — 1)


https://dl.doubtnut.com/l/_cczP5BsHM2q6
https://dl.doubtnut.com/l/_WxF0Qsm9hjsk

A.lie in I quadrant

B. lie in Ill quadrant

C.liein | and Il quadrants

D. do not lie in the same quadrant

Answer: D

o Watch Video Solution

14. The point of intersect of the coordinates
axes is: ordinate (b) abscissa quadrant origin

(d) origin


https://dl.doubtnut.com/l/_WxF0Qsm9hjsk
https://dl.doubtnut.com/l/_UkrFpam3Bn8k

A. Abscissa

B. Ordinate

C. Quadrant

D. Origin

Answer: D

o Watch Video Solution

15. The abscissa and ordinate of the origin are

(0,0) (b) (1,0) (c) 0,1) (d) 1,7)


https://dl.doubtnut.com/l/_UkrFpam3Bn8k
https://dl.doubtnut.com/l/_zPOETNCLEInQ

A 1,0

B.1, 1

.0, 1

D.0, 0

Answer: D

° Watch Video Solution

16. The measure of the angle between the

coordinate axes is 0° (b) 90° (c) 180° (d) 360°


https://dl.doubtnut.com/l/_zPOETNCLEInQ
https://dl.doubtnut.com/l/_TfnG1ShDLnOB

B.90°

C.180°

D. 270°

Answer: B

o Watch Video Solution

17. The perpendicular distance of the point p(-

4, -3) from x-axis is


https://dl.doubtnut.com/l/_TfnG1ShDLnOB
https://dl.doubtnut.com/l/_BSU1BPnw4dpR

C.4

D.3

Answer: D

o Watch Video Solution

18. The perpendicular distance of the point

p(-7,2) from y-axis is


https://dl.doubtnut.com/l/_BSU1BPnw4dpR
https://dl.doubtnut.com/l/_YtRTIPwIN0uh

B.7

C.2

D. None of these

Answer: B

o Watch Video Solution

19. The distance of the point p(3,4) from the

origin is


https://dl.doubtnut.com/l/_YtRTIPwIN0uh
https://dl.doubtnut.com/l/_tfuf4dTntNDK

A3

B.4

C.7

D.5

Answer: D

o Watch Video Solution

20. Which of the points A(-5, 0), B(O, -3), C(3, 0),

D(0,4) are closer to the origin ?


https://dl.doubtnut.com/l/_tfuf4dTntNDK
https://dl.doubtnut.com/l/_VqL1MkKnAFDh

A A

B.B

C.D

D. Points B and C both

Answer: D

° Watch Video Solution

21. The point whose abscissa is 5 and which lie

on x-axis is

| 8 l


https://dl.doubtnut.com/l/_VqL1MkKnAFDh
https://dl.doubtnut.com/l/_FVnLuJkJMHTV

22. x-coordinate of a point is its distance from

the x-axis.

° Watch Video Solution

23. The co-ordinates of a point describe the

point in the place uniquely.

o Watch Video Solution



https://dl.doubtnut.com/l/_FVnLuJkJMHTV
https://dl.doubtnut.com/l/_td0hAHUPjLQg
https://dl.doubtnut.com/l/_pwS7KzeU41e0

24. The points with coordinates (3,4) and (4,3)

are at same position of the plane.

o Watch Video Solution

25. Y-coordinate of a point is also called

abscissa.

o Watch Video Solution



https://dl.doubtnut.com/l/_GLIwBW2435Sb
https://dl.doubtnut.com/l/_53eqSEgTzRkg

26. The coordinates of a points, which lies on
negative x-axis at a distance of 6 units from y-

axis, are (-6,0).

o Watch Video Solution

27.In which quadrant do the given points lie.

i) (3, —2)

o Watch Video Solution



https://dl.doubtnut.com/l/_DsR5PPrbiNdK
https://dl.doubtnut.com/l/_qGhADyECSrgT

28. In which quadrant do the given points lie.

i) (17, — 30)

o Watch Video Solution

29. In which quadrant do the given points lie.

iii) ( — 2, 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_5rGoRhIOvZh0
https://dl.doubtnut.com/l/_zHgQaHotRdOV

30. In which quadrant do the given points lie.

iv) (— 50, — 20)

o Watch Video Solution

31. In which quadrant do the given points lie.

v) (10, 100)

o Watch Video Solution



https://dl.doubtnut.com/l/_vfdlWCUaWTxE
https://dl.doubtnut.com/l/_sZh1Y6huOOaK

32. In which quadrant do the given points lie.

vi) ( — 18, 80)

o Watch Video Solution

33. On which axis do the given points lie:

i) (11, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_woqHRWoi93zR
https://dl.doubtnut.com/l/_lhdP5C4zDIDy

34. On which axis do the given points lie:

i) (— 11, 0)

o Watch Video Solution

35. On which axis do the given points lie:

iii) (0, 14)

o Watch Video Solution



https://dl.doubtnut.com/l/_b7EoOGy9tbAA
https://dl.doubtnut.com/l/_3DpJzuykCqAr

36. On which axis do the given points lie:

(iv) (0, — 100)

o Watch Video Solution

37. The abscissa and ordinate of a pointAare-
3and-5 respectively then write down the

coordinate of A.

o Watch Video Solution



https://dl.doubtnut.com/l/_tricC7ltzBtl
https://dl.doubtnut.com/l/_w1FC9mYHByRU

38. Is P(7,0) and Q (0,7) represent the same

point ?

o Watch Video Solution

39. In which quadrant x coordinate is negative

?

o Watch Video Solution



https://dl.doubtnut.com/l/_s3hlJJMMGGO9
https://dl.doubtnut.com/l/_dJ3o1hF6W4L4

40. Name the figure formed when we plot the

points (0, 0), (4,4) and (0,4) on a graph paper.

° Watch Video Solution

41. In which quadrant, does the point A (x, y)

with values x>0 and y>0 exists.

o Watch Video Solution



https://dl.doubtnut.com/l/_VNAM7WeZTaF1
https://dl.doubtnut.com/l/_xdYYCyqCop2W

42. Write the coordinates os the fourth vertex
of a square when three of its vertices are given

by (1,2) (5,2) (5, -2).

o Watch Video Solution

43. If abscissa of point A is positive & ordinate

is negative then in which quadrant do Alie?

° Watch Video Solution



https://dl.doubtnut.com/l/_6nPDAwIVuWxp
https://dl.doubtnut.com/l/_vS5nA0qHPZPi

44, Write the coordinates of a point whose
perpendicular distance from x-axis is 5 units &
perpendicular distance from y-axis is 3 & it lies

in Il quadrant.

° Watch Video Solution

45, Draw the Cartesian plane on a graph paper
and plot the given points.

i) A(3, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_2nWfwu9AfjbK
https://dl.doubtnut.com/l/_OTPbtptIhaF4

46. Draw the Cartesian plane on a graph paper
and plot the given points.

iy B( — 7/2, 0)

° Watch Video Solution

47.Draw the Cartesian plane on a graph paper
and plot the given points.

iii) C(2, — 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_OTPbtptIhaF4
https://dl.doubtnut.com/l/_3I1E0qGrO8OO
https://dl.doubtnut.com/l/_ru7klfSVlbwC

48. Draw the Cartesian plane on a graph paper
and plot the given points.

(iv) D( — 6, — 4)

o Watch Video Solution

49, Draw the Cartesian plane on a graph paper
and plot the given points.

E(0, —5/2)

o Watch Video Solution



https://dl.doubtnut.com/l/_CfkLWKgBUesY
https://dl.doubtnut.com/l/_g3sgOAZwZd4P
https://dl.doubtnut.com/l/_v3XMx9qMbJIC

50. Draw the Cartesian plane on a graph paper
and plot the given points.

F(8,0)

o Watch Video Solution

51. Write the coordinates of each of points in

the given figure.


https://dl.doubtnut.com/l/_v3XMx9qMbJIC
https://dl.doubtnut.com/l/_mCd9tdzEWSuN
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o Watch Video Solution

52. Point P (4, 3) is in the first quadrant. Find
the coordinate of the point Q, opposite to P in

fourth quadrant.


https://dl.doubtnut.com/l/_mCd9tdzEWSuN
https://dl.doubtnut.com/l/_Po0XnJXDbVeb

° Watch Video Solution

53. Find the distance of point (8, 3) from x axis

&y axis.

o Watch Video Solution

54. Write the name of the figure formed by
joining the points A (-3, 0), B (0, 3) and C (3, 0)

in the cartesian plane.

o Watch Video Solution



https://dl.doubtnut.com/l/_Po0XnJXDbVeb
https://dl.doubtnut.com/l/_lMlMcc0eEDPi
https://dl.doubtnut.com/l/_LtGodlHMDY14

55. Write the coordinates of the point that lies
on y-axis and is at a distance of 2 units in

upward direction.

o Watch Video Solution

56. If the mirror image of a point (x, y) about x-
axis is (x, -y) then write the mirror image of the

point S (-5, 7) about x-axis is.

o Watch Video Solution



https://dl.doubtnut.com/l/_LtGodlHMDY14
https://dl.doubtnut.com/l/_cxHxkX3nAuvQ
https://dl.doubtnut.com/l/_bMaiJs3kn7wX

57. Find the distance of the point P (4, 2) from

origin.

o Watch Video Solution

58. Write the mirror image of (4, -3) about y-

axis.

o Watch Video Solution

Exercise Part A Fill In The Blanks


https://dl.doubtnut.com/l/_n0HSxIiY4yU6
https://dl.doubtnut.com/l/_9lJrfgYVT5G7
https://dl.doubtnut.com/l/_gkKcwehPxMyh

1. The coordinate axes divide the plane info

four parts which are called

o Watch Video Solution

2. If the coordinates of a point are (-2, 5), then

its ordinate is and its abscissa is.

° Watch Video Solution



https://dl.doubtnut.com/l/_gkKcwehPxMyh
https://dl.doubtnut.com/l/_mhFxW7yhjreF

3. The point (200, — 111) lies in the

quadrant.

o Watch Video Solution

4. The abscissa of any point on the y-axis is

o Watch Video Solution

5. The ordinate of every point on the x-axis is



https://dl.doubtnut.com/l/_Wupxm2vK6Nk7
https://dl.doubtnut.com/l/_teqwluvnIGrJ
https://dl.doubtnut.com/l/_1uZhZxuf182q

o Watch Video Solution

6. The points (0,0), (0,4) and (4,0) form a/an

triangle .

o Watch Video Solution

7. 1f (x,y) represents a point and zy > 0, then

the point may lie in or

quadrant .

o Watch Video Solution



https://dl.doubtnut.com/l/_1uZhZxuf182q
https://dl.doubtnut.com/l/_ra5l7LCGrOLm
https://dl.doubtnut.com/l/_LKyXZJ2isOsE

8. The points with coordinates

(3, —1) and ( —1,3) are at

(same/different) positions of the coordinate

plane.

o Watch Video Solution

9. If the ordinate of points 7 and abscissa is

— b, then its coordinates are

° Watch Video Solution



https://dl.doubtnut.com/l/_LKyXZJ2isOsE
https://dl.doubtnut.com/l/_zxBOHahNJWeN
https://dl.doubtnut.com/l/_MizRCh3kGVm9

Exercise Part C

1. Draw a line segment on a graph paper
whose end points lies in first quadrant and
third quadrant. Write the coordinates of its

end points and mid point of line segment.

o Watch Video Solution

2. Plot the points A (2, 4) & B (2, -5) whose x-

coordinates are same. Is this line AB parallel to


https://dl.doubtnut.com/l/_rxfKKZd6hyiq
https://dl.doubtnut.com/l/_po7UQzz36cCV

any of the axes. If yes, to which axis is it

parallel?

° Watch Video Solution

3. Plot the points P (2, -3) & Q (-5, -3) whose
ordinates are same. To which axis the line P Q

is parallel?

° Watch Video Solution



https://dl.doubtnut.com/l/_po7UQzz36cCV
https://dl.doubtnut.com/l/_VTNhh9TWDkxA

4. Plot the points A (7, 6) & B (7, -6) on graph
paper. Join them & answer the following :
(i) Write the coordinate of the point where

line AB cuts the x-axis?

° Watch Video Solution

5. Plot the points A (7, 6) & B (7, -6) on graph
paper. Join them & answer the following :

(ii) To which axis, line AB is parallel ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tNIKuFxfoTZe
https://dl.doubtnut.com/l/_W0YHSErBhYaI

6. Draw a triangle ABC on graph paper having
the coordinates of its vertices as A (-2, 0), B (4,

0) and C (1,5). Also find the area of triangle.

° Watch Video Solution

7. If we plot the points P(5, 0), Q (5, 5), R(-5, 5)
and S (-5, 0), which figure will we get? Name

the axis of symmetry of this figure?

° Watch Video Solution



https://dl.doubtnut.com/l/_W0YHSErBhYaI
https://dl.doubtnut.com/l/_0tf3RjlKybvh
https://dl.doubtnut.com/l/_XcbS7D3cr1qL

8. Find the coordinates of a point which is
equidistant from the two points (-4, 0) and (4,
0). How many of such points are possible

satisfying the condition?

o Watch Video Solution

9. Draw a quadrilateral with vertices A (4, 3),
B(-4, 3), C(-4, -3) and D(4, -3). Draw its diagonals
and write the coordinates of the point where

the diagonals cut each other?

| & I


https://dl.doubtnut.com/l/_yikqLg0FFCCS
https://dl.doubtnut.com/l/_QelBzuOtiLEN

| ¥ Watch Video Solution |

10. A rectangular field is of length 10 units &
breadth 8 units. One of its vertex lie on the
origin. The longer side is along x-axis and one
of its vertices lie in first quadrant. Find all the

vertices.

o Watch Video Solution

11. Plot the point B (5, 3), E(5, 1), S(O, 1) and T(O,

3) and answer the following:


https://dl.doubtnut.com/l/_QelBzuOtiLEN
https://dl.doubtnut.com/l/_XFoKUW7KWVUL
https://dl.doubtnut.com/l/_XJnUqldkTWGn

i) Join the points and name the figure

obtained.

° Watch Video Solution

12. Plot the point B (5, 3), E(5, 1), S(O, 1) and T(O,
3) and answer the following:

ii) Find the area of figure.

° Watch Video Solution

Practice Test


https://dl.doubtnut.com/l/_XJnUqldkTWGn
https://dl.doubtnut.com/l/_JH3t27e7GWHY
https://dl.doubtnut.com/l/_sVvhyZxzuH3h

1. In which quadrant, the point (x, y) will lie?
(Where x is a positive and y is a negative

number).

° Watch Video Solution

2. Write the y-coordinate of a point which lies

on Xx-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_sVvhyZxzuH3h
https://dl.doubtnut.com/l/_o5GgvZk9ZRiU

3. Find the value of x and y if:

@ (z — 4,7) = (4,7)

o Watch Video Solution

4. Find the value of x and y if:

(b) (1,2y —3) = (1, 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_PQjetjR4bD2r
https://dl.doubtnut.com/l/_3m0cGD1Zz1ui

5. What is the distance of a point (7, 6) from x-

axis and y-axis ?

o Watch Video Solution

6. Plot the following points in Cartesian plane.

(—3,5),(—2,0),(—4,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_pnyV95O0ZBpx
https://dl.doubtnut.com/l/_JqS2bv5NF4Dz

7. Write the equations of line [ and m as
shown in the figure. Also name the line which

is represented by x = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_mVq2zFaIWbD2

8. There are three points
0(0,0), A(4,0) and C(0,6). Find the
coordinates of the fourth point B such that

OABC forms a rectangle.

o Watch Video Solution

9. The base AB of two equilateral triangles

ABC and ABC'’ with side 2a lies along the X
-axis such that the mid-point of AB is at the

origin as shown in Fig. 144. Find the


https://dl.doubtnut.com/l/_RHXx80G7TmK7
https://dl.doubtnut.com/l/_IuQZag6JTpEH

coordinates of the vertices C and C’ of the

triangles. (FIGURE)

° Watch Video Solution



https://dl.doubtnut.com/l/_IuQZag6JTpEH

